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(Economic Theory-II) 1. Give answers to the following questions :
Paper : MAEC-02 frfefon gl & S ST
Time : 3 Hours ] [ Maximum Marks : 80 (i) Laffer Curve.
Note .— The question paper is divided into three Sections TTHL & |

A, B and C. Write answers as per the given (i) Crowding Out.

instructions. )
et - 7' wea-wF ‘e, 9 SR E R mvel | fawifsa ®) FIHST S|
TAF TUE & RINIER Y91 & IR I | (iii) Supply-side Economics.
Section-A 8x2=16 SATYfA-Te7 ST |
(Very Short Answer Type Questions) (iv) Nominal GDP.
Note .— Answer all questions. As per the nature of the ST ST

question delimit your answer in one word, one ‘
. (v) Deflation.
sentence or maximum up to 30 words. Each

question carries 2 marks. STTERI |
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(vi) What is Effective Demand ? 3. Define and differentiate between fiscal policy and

THTet A FM T 7 monetary policy.

(vil) What is meant by the Liquidity trap 7 TSRS i ek ik S # S TR $R 3
?
T S & A aeqd ¥ 2 TET
(viii) Budget Deficit. L .
4. What is the Phillips curve and how does it
qSE HILT |
illustrate the trade-off between inflation and
Section-B 4x8=32
unemployment.
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(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks. i sTe-aeel w1 hE TR T 2
Qugs—d 5. Explain the concept of the multiplier effect and
(g AT q9) how it relates to government spending.
frder - fF=l WX wvAl & SW MU AW HW SW W O YU H SEYROT F T R SR T
Hftrshad 200 sl ¥ Rt wifSw ) g T=

. =T Y HY g ¥
8 31 & T

: . 6. Describe the business cycle and its various phases.
2. Discuss the factors that can cause economic growth y P

_ . ) ) )
in a country, What factors contribute to economic fluctuations ?
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. Explain the concept of aggregate demand and
aggregate supply. How do these determine the

overall level of economic output ?

T A SR W S hY STIARON Sl T RIS

10.

What are the foundational assumptions of
Classical theory ? Analyze the criticisms that have
been leveled against the Classical theory of Income

and Employment.

Y oo IR HT gHY R 9 Tl ww ¥ 2

8. Write a short note on Fisher’s quantity theory of

e fagm &1 Jerym " @ 2 3T eI
TSR & ek e & foeg &t T8 sterems
w1 e Hif 4+12

Money.
fReR & gg1 9Rem fagma W & @y fewm s

) i ) i 11. Explain the concept of the marginal propensity to
9. Explain consumption function by a diagram.

consume (MPC). Examine the factors that may

Teh (@ §RI IUURT Fed i SARST HiTd |
cause shifts in the consumption function.

i 3T ygt (THAE) T SEUROT H HEEE |

I FHRHT B T BT S STHT HRE H Sgard hl

Section—-C 2x16=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

MAEC-02/7 (5)

. FRO o FHd §
your each answer maximum up to 500 words.
Each question carries 16 marks. 12. Discuss the methods used to calculate national
TUS—H income, including the production, income and
(&t 3ThT woH) expenditure approaches.
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13. Write short notes on any two of the following :
(a) Explain the IS-LM model.
(b) Discuss Hicks’ Trade Cycles.
(¢) Mundell-Fleming model.
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